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(1) OEMNEAE (240  OH + H;AsOs=H,AsOs + H.0 (2 %))
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(2) 5.6 (243
@MnO>+H3As05+2H*=H;3;As04+ Mn*+H,0 (34))
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HVE AR AT AR . D (34))
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17. #1577,
(1) OMnOs+PbS+4HCI=—=PbCly+S+MnCly+2H0 (2 5
@Mt CI, HK CIHREE, f# PbCL JERL PbCL2E T7K. (243D
O A SN AR, HRICERER®E (24

(2) Fe(OH);» MnO (2 73
(3) BIEMA KD (143, TIEAH] PbCL A (1 43), HUPbCL FAL I A\
& 1Imol- L HaSO4 WA HE (170, o Ma, g (170, Wk, HE&KE
—IRBEHAMAN AgNOs ¥, THETUE (1459,
(4) n(EDTA)=0.1000mol-L'x26.00x10°L=2.6x10-mol (1 7))
n(ZnS04)=0.1000mol-L 1% 14.00x10-3L=1.4x10mol
Pb*". Zn*'5 EDTA HI¥ LR % N: EDTA~Pb*. EDTA~Zn*
55 PbSO4 SN [) EDTA 95 1) & -
n(EDTA)=2.6x10mol-1.4x10mol=1.2x10>mol (1 4})
n(PbS04)=1.2x10-mol
PbSOs & f: 1.2x10°molx303g-mol'+0.4000=90.9% (1 43)
18. 3t 14 4.
(1) O[Ar]3d%4s? (240
QAT [RBCEIFIIP, S E AR NO 2, R & REST
320°CJm, NHs AJREHE O2 LN NO, AL IZAC. (3 70)
310000 (14})  NO. NHzi@d AN A, Khe 5 MR,
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(2) HZEMRABE AR HETF (14 , H5 Fe(lll) ) MAE K Fe(Il), Fe(IN)ik R
NO; AR Fe(IINAT NHs© (143) , ClUZEBHIM KRB FAE K Cly Clo 57K B AE i
HCI A1 HCIO (1 %)

2NH4 +3HCIO=N,+3Cl +5H"+3H,0 (3 %})



